1. Two taxpayers from each of the 67 Florida counties with the highest unsatisfied warrant and lien totals when the unsatisfied warrant and liens totals for each taxpayer exceeds \$1,500; and

BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

DEPARTMENT OF ENVIRONMENTAL PROTECTION

Notices for the Department of Environmental Protection between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

Section IV **Emergency Rules**

BOARD OF TRUSTEES OF THE INTERNAL IMPROVEMENT TRUST FUND

Notices for the Board of Trustees of the Internal Improvement Trust Fund between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

DEPARTMENT OF THE LOTTERY

RULE NO.: RULE TITLE:

53ER11-8 Instant Game Number 1092, BLACK

PEARLS

SUMMARY: This emergency rule describes Instant Game Number 1092, "BLACK PEARLS," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value and number of prizes in the game.

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER11-8 Instant Game Number 1092, BLACK PEARLS.

- (1) Name of Game. Instant Game Number 1092, "BLACK PEARLS."
- (2) Price. BLACK PEARLS lottery tickets sell for \$5.00 per ticket.

(3) BLACK PEARLS lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area on the ticket. To be a valid winning BLACK PEARLS lottery ticket, the ticket must meet the applicable requirements of Rule 53ER10-1, F.A.C.

(4) The "YOUR NUMBERS" play symbols and play symbol captions are as follows:



(5) The "WINNING NUMBERS" play symbols and play symbol captions are as follows:

1	2	3	4	5	6	7	8	9	10
ñ	12	13	14	15	16	17	18	19	20
OUDWA	760,Y	THREE	PERM	22.0	1078	200.70	DOM: N	NAC'S	THERT
21	22	23	24						

(6) The prize symbols and prize symbol captions are as follows:

\$2.00	\$5.00	\$10.00	\$20.00	
\$30.00	\$40.00	\$50.00	\$100	\$200
\$500	\$1,000	\$2,500	\$10,000	\$200,000

(7) The legends are as follows:

YOUR NUMBERS HINNING NUMBERS

- (8) Determination of Prizewinners.
- (a) A ticket having a play symbol and corresponding play symbol caption in the "YOUR NUMBERS" play area that matches a play symbol and corresponding play symbol caption in the "WINNING NUMBERS" play area shall entitle the claimant to the corresponding prize shown for that symbol. A

ticket having a "" play symbol and corresponding play symbol caption in the "YOUR NUMBERS" play area shall entitle the claimant to double the prize shown for that symbol.

A ticket having a "a" play symbol and corresponding play symbol caption in the "YOUR NUMBERS" play area shall entitle the claimant to all twelve (12) prizes shown.

- (b) The prizes are: \$2.00, \$5.00, \$10.00, \$20.00, \$30.00, \$40.00, \$50.00, \$100, \$200, \$500, \$1,000, \$2,500, \$10,000 and \$200,000.
- (9) The estimated odds of winning, value, and number of prizes in Instant Game Number 1092 are as follows:

			NUMBER OF
			WINNERS IN
		ESTIMATED	52 POOLS OF
		ODDS OF	120,000 TICKETS
GAME PLAY	WIN	<u>1 IN</u>	PER POOL
<u>\$5</u>	<u>\$5</u>	<u>10.00</u>	<u>624,000</u>
<u>\$5 (\$\$)</u>	<u>\$10</u>	<u>15.00</u>	<u>416,000</u>
\$5 x 2	<u>\$10</u>	<u>60.00</u>	104,000

\$10	<u>\$10</u>	60.00	104,000
\$2 x 10	\$20	300.00	20,800
\$5 (\$\$) + (\$5 x 2)	\$20	300.00	20,800
\$5 x 4	\$20	300.00	20,800
			·
\$10 (\$\$)	\$20 \$20	<u>300.00</u>	<u>20,800</u>
\$20	\$20	300.00	20,800
$(\$2 \times 10) + \$5 (\$\$)$	\$30	600.00	10,400
\$5 x 6	\$30	<u>600.00</u>	10,400
\$5 (\$\$) + \$10 (\$\$)	\$30	750.00	8,320 5,000
\$10 + \$20	\$30	800.00	7,800
\$30 (\$2 x 10) + (\$10 x	<u>\$30</u>	800.00	<u>7,800</u>
(\$2 x 10) + (\$10 x 2) (SHELL)	<u>\$40</u>	<u>1,500.00</u>	4,160
\$5 x 8	<u>\$40</u>	<u>2,000.00</u>	3,120
\$10 (\$\$) + \$20	<u>\$40</u>	2,000.00	3,120
<u>\$10 x 4</u>	<u>\$40</u>	2,000.00	3,120
<u>\$40</u>	<u>\$40</u>	2,000.00	3,120
(\$2 x 5) + (\$5 x 6) + \$10 (SHELL)	<u>\$50</u>	1,200.00	5,200
\$5 x 10	\$50	1,500.00	4,160
\$5 (\$\$) + \$20 (\$\$)	\$50	1,500.00	4,160
\$10 (\$\$) + \$30	\$50	1,600.00	3,900
\$50	\$50	1,600.00	3,900
$(\$5 \times 8) + (\$10 \times 2)$			
+ (\$20 x 2)	<u>\$100</u>	<u>1,500.00</u>	<u>4,160</u>
(SHELL)			
\$10 (\$\$) + \$20 (\$\$)	\$100	1,500.00	4,160
+ \$40 (\$10 x 3) + \$30 +			
\$40	<u>\$100</u>	<u>1,500.00</u>	<u>4,160</u>
\$20 (\$\$) + \$30 (\$\$)	<u>\$100</u>	<u>1,500.00</u>	<u>4,160</u>
\$50 (\$\$)	<u>\$100</u>	1,500.00	<u>4,160</u>
<u>\$100</u>	<u>\$100</u>	<u>1,500.00</u>	<u>4,160</u>
$(\$10 \times 10) + (\$50 \times 10)$	\$200	10,000.00	624
<u>2) (SHELL)</u> \$30 (\$\$) + \$40 +			624
<u>\$50 (\$\$)</u>	<u>\$200</u>	10,000.00	024
<u>\$50 x 4</u>	<u>\$200</u>	10,000.00	<u>624</u>
<u>\$100 (\$\$)</u>	<u>\$200</u>	10,000.00	<u>624</u>
\$200	<u>\$200</u>	10,000.00	<u>624</u>
(\$40 x 10) + (\$50 x 2) (SHELL)	<u>\$500</u>	10,000.00	<u>624</u>
\$50 (\$\$) + \$100 (\$\$) + \$100 (\$\$)	<u>\$500</u>	12,000.00	<u>520</u>
\$100 x 5	\$500	12,000.00	520
\$10 (\$\$) + \$20 (\$\$)			
+ \$40 + \$100 (\$\$) +	<u>\$500</u>	12,000.00	<u>520</u>
\$200 \$500	# 500	12 000 00	520
$\frac{$500}{($50 \times 8) + ($100 \times 8)}$	<u>\$500</u>	12,000.00	<u>520</u>
$\frac{(\$30 \times 3) + (\$100 \times 2)}{2) + (\$200 \times 2)}$	\$1,000	40,000.00	156
(SHELL)	+-,000		-20
\$100 x 10	\$1,000	40,000.00	<u>156</u>
\$200 x 5	\$1,000	40,000.00	<u>156</u>
\$500 (\$\$ <u>)</u>	\$1,000	40,000.00	<u>156</u>
\$1,000	\$1,000	40,000.00	<u>156</u>
<u>\$500 + \$1,000 (\$\$)</u>	\$2,500	60,000.00	<u>104</u>

\$2,500	\$2,500	60,000.00	104
\$10,000	<u>\$10,000</u>	120,000.00	<u>52</u>
\$200,000	\$200,000	1.040.000.00	6

- (10) The estimated overall odds of winning some prize in Instant Game Number 1092 are 1 in 4.25. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.
- (11) For reorders of Instant Game Number 1092, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.
- (12) Payment of prizes for BLACK PEARLS lottery tickets shall be made in accordance with the rule of the Florida Lottery governing payment of prizes.

A copy of the current rule can be obtained from the Florida Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

Rulemaking Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History-New 2-4-11.

THIS RULE TAKES EFFECT UPON BEING FILED WITH THE DEPARTMENT OF STATE UNLESS A LATER TIME AND DATE IS SPECIFIED IN THE RULE.

EFFECTIVE DATE: February 4, 2011

DEPARTMENT OF THE LOTTERY

RULE TITLE: RULE NO.:

53ER11-9 Instant Game Number 1090, LUCKY **SHAMROCKS**

SUMMARY: This emergency rule describes Instant Game Number 1090, "LUCKY SHAMROCKS," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value and number of prizes in the game.

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER11-9 Instant Game Number 1090, LUCKY SHAMROCKS.

- (1) Name of Game. Instant Game Number 1090, "LUCKY SHAMROCKS."
- (2) Price. LUCKY SHAMROCKS lottery tickets sell for \$2.00 per ticket.

- (3) LUCKY SHAMROCKS lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area on the ticket. To be a valid winning LUCKY SHAMROCKS lottery ticket, the ticket must meet the applicable requirements of Rule 53ER10-1, F.A.C.
- (4) The "YOUR NUMBERS" play symbols and play symbol captions are as follows:



(5) The "LUCKY NUMBERS" play symbols and play symbol captions are as follows:



(6) The prize symbols and prize symbol captions are as follows:



(7) The legends are as follows:

YOUR NUMBERS LUCKY

NUMBERS

- (8) Determination of Prizewinners.
- (a) A ticket having a play symbol and corresponding play symbol caption in the "YOUR NUMBERS" play area that matches a play symbol and corresponding play symbol caption in the "LUCKY NUMBERS" play area shall entitle the claimant to the corresponding prize shown for that symbol. A
- ticket having a "play symbol and corresponding play symbol caption in the "YOUR NUMBERS" play area shall entitle the claimant to all ten (10) prizes shown.
- (b) The prizes are: \$1.00, \$2.00, \$4.00, \$5.00, \$10.00, \$15.00, \$20.00, \$25.00, \$30.00, \$40.00, \$100, \$200, \$400, \$1,000, \$10,000 and \$30,000.
- (9) The estimated odds of winning, value, and number of prizes in Instant Game Number 1090 are as follows:

			NUMBER OF
			WINNERS IN
		ESTIMATED	46 POOLS OF
		ODDS OF	180,000 TICKETS
GAME PLAY	WIN	<u>1 IN</u>	PER POOL
<u>\$2</u>	<u>\$2</u>	<u>10.00</u>	828,000
<u>\$1 x 4</u>	<u>\$4</u>	<u>50.00</u>	<u>165,600</u>
$(\$1 \times 2) + \2	<u>\$4</u>	<u>50.00</u>	<u>165,600</u>
<u>\$2 x 2</u>	<u>\$4</u>	<u>50.00</u>	<u>165,600</u>
<u>\$4</u>	<u>\$4</u>	<u>50.00</u>	<u>165,600</u>

<u>\$1 x 5</u>	<u>\$5</u>	<u>375.00</u>	22,080
$(\$1 \times 3) + \2	<u>\$5</u>	<u>375.00</u>	22,080
$(\$2 \times 2) + \1	<u>\$5</u>	375.00	22,080
\$1 + \$4	\$5	375.00	22,080
\$5	<u>\$5</u>	375.00	22,080
\$1 x 10 (GOLD BAR)	\$10	250.00	33,120
\$1 x 10	\$10	250.00	33,120
\$2 x 5	\$10	250.00	33,120
\$5 x 2	\$10	250.00	33,120
\$10	\$10	250.00	33,120
$(\$1 \ x \ 5) + (\$2 \ x \ 5)$	\$15	750.00	11,040
(GOLD BAR)	015	750.00	11.040
$(\$1 \times 5) + (\$2 \times 5)$	\$15 \$15	<u>750.00</u>	11,040
$$2 + ($4 \times 2) + 5	\$15 \$15	<u>750.00</u>	11,040
\$5 + \$10	\$15 \$15	<u>750.00</u>	11,040
\$15	\$15 #25	<u>750.00</u>	11,040
$\frac{\$1 + (\$2 \times 7) + (\$5 \times 7)}{\$1 + (\$0 \times 7) + (\$0 \times 7)}$	<u>\$25</u>	900.00	9,200
$\$1 + (\$2 \times 7) + (\$5 \times 7)$	<u>\$25</u>	<u>1,200.00</u>	<u>6,900</u>
$\frac{2)}{(\$2 \times 5) + (\$5 \times 3)}$	<u>\$25</u>	1,200.00	6,900
\$5 x 5	<u>\$25</u>	1,200.00	6,900
<u>\$25</u>	<u>\$25</u>	1,200.00	6,900
$(\$2 \ x \ 5) + (\$4 \ x \ 5)$	<u>\$30</u>	3,600.00	2,300
(GOLD BAR) \$5 x 6	<u>\$30</u>	3,600.00	2,300
\$10 x 3	\$30	3,600.00	2,300
\$15 x 2	\$30 \$30	3,600.00	2,300
\$30	\$30 \$30	3,600.00	2,300
\$4 x 10 (GOLD BAR)	\$40	<u>6,000.00</u>	1,380
$(\$4 \times 5) + (\$5 \times 4)$	\$40	6,000.00	1,380
\$10 x 4	\$40	6,000.00	1,380
\$20 x 2	\$40	6,000.00	1,380
\$40	\$40	6,000.00	1,380
\$10 x 10 (GOLD	\$100	3,600.00	2,300
BAR)			
$\frac{$10 \times 10}{($20 \times 2) + ($20 \times 2)}$	\$100 \$100	3,600.00	2,300
$(\$20 \times 2) + (\$30 \times 2)$	\$100 \$100	3,600.00	2,300 2,300
\$25 x 4	\$100 \$100	3,600.00	2,300 2,300
\$100 \$20 x 10 (GOLD	\$100 \$200	3,600.00 18,000.00	460
BAR)			
<u>\$25 x 8</u>	<u>\$200</u>	18,000.00	<u>460</u>
$$20 + ($30 \times 6)$	<u>\$200</u>	18,000.00	<u>460</u>
\$100 x 2	<u>\$200</u>	18,000.00	<u>460</u>
<u>\$200</u>	<u>\$200</u>	18,000.00	<u>460</u>
\$40 x 10 (GOLD	<u>\$400</u>	45,000.00	<u>184</u>
$\frac{\text{BAR}}{(\$40 \times 5)} + (\$100 \times 2)$	<u>\$400</u>	45,000.00	<u>184</u>
<u>\$100 x 4</u>	<u>\$400</u>	45,000.00	<u>184</u>
\$200 x 2	<u>\$400</u>	45,000.00	<u>184</u>
<u>\$400</u>	<u>\$400</u>	45,000.00	<u>184</u>
\$100 x 10 (GOLD	\$1,000	180,000.00	<u>46</u>
<u>BAR)</u> \$100 x 10	\$1,000	180,000.00	<u>46</u>
\$200 x 5	\$1,000	180,000.00	<u>46</u>
\$200 + (\$400 x 2)	\$1,000	180,000.00	<u>46</u>

<u>\$1,000</u>	\$1,000	180,000.00	<u>46</u>
<u>\$10,000</u>	\$10,000	690,000.00	<u>12</u>
\$30,000	\$30,000	828,000.00	10

- (10) The estimated overall odds of winning some prize in Instant Game Number 1090 are 1 in 4.38. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.
- (11) For reorders of Instant Game Number 1090, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.
- (12) Payment of prizes for LUCKY SHAMROCKS lottery tickets shall be made in accordance with the rule of the Florida Lottery governing payment of prizes.

A copy of the current rule can be obtained from the Florida Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

Rulemaking Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History-New 2-4-11.

THIS RULE TAKES EFFECT UPON BEING FILED WITH THE DEPARTMENT OF STATE UNLESS A LATER TIME AND DATE IS SPECIFIED IN THE RULE.

EFFECTIVE DATE: February 4, 2011

DEPARTMENT OF THE LOTTERY

RULE TITLE: RULE NO.:

53ER11-10 Instant Game Number 1096.

SPADES

SUMMARY: This emergency rule describes Instant Game Number 1096, "SPADES," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning; value and number of prizes in the game.

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst. Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER11-10 Instant Game Number 1096, SPADES.

- (1) Name of Game. Instant Game Number 1096. "SPADES."
 - (2) Price. SPADES lottery tickets sell for \$2.00 per ticket.
- (3) SPADES lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area on

the ticket. To be a valid winning SPADES lottery ticket, the ticket must meet the applicable requirements of Rule 53ER10-1, F.A.C.

(4) The "YOUR CARD" play symbols and play symbol captions are as follows:



(5) The "DEALER'S CARD" play symbols and play symbol captions are as follows:



(6) The prize symbols and prize symbol captions are as follows:



(7) The legends are as follows:



- (8) Determination of Prizewinners.
- (a) There are eight (8) games on a ticket. Each game is played separately. A ticket having a play symbol and corresponding play symbol caption in the YOUR CARD play area that beats the play symbol and corresponding play symbol caption in the DEALER'S CARD play area shall entitle the claimant to the corresponding PRIZE shown for that game. A

ticket having a "play symbol and corresponding play symbol caption in a game shall entitle the claimant to double

the prize shown for that game. A ticket having a "" and a "" and a " a symbol and corresponding play symbol caption in a game shall entitle the claimant to all eight (8) prizes shown.

- (b) The prizes are: \$1.00, \$2.00, \$4.00, \$5.00, \$10.00, \$20.00, \$30.00, \$40.00, \$100, \$200, \$500, \$1,000, \$10,000 and \$25,000.
- (9) The estimated odds of winning, value, and number of prizes in Instant Game Number 1096 are as follows:

			NUMBER OF
			WINNERS IN
		ESTIMATED	34 POOLS OF
		ODDS OF	180,000 TICKETS
GAME PLAY	WIN	<u>1 IN</u>	PER POOL
<u>\$1 x 2</u>	<u>\$2</u>	<u>30.00</u>	204,000
-		<u>1 IN</u>	PER POOL

<u>\$1 (SPADE)</u>	<u>\$2</u>	<u>37.50</u>	163,200
<u>\$2</u>	<u>\$2</u>	30.00	204,000
<u>\$1 x 4</u>	<u>\$4</u>	<u>50.00</u>	122,400
$(\$1 \times 2) + \2	<u>\$4</u>	<u>50.00</u>	122,400
<u>\$2 (SPADE)</u>	<u>\$4</u>	<u>75.00</u>	81,600
<u>\$2 x 2</u>	<u>\$4</u>	<u>75.00</u>	81,600
<u>\$4</u>	<u>\$4</u>	<u>75.00</u>	81,600
<u>\$1 x 5</u>	<u>\$5</u>	<u>250.00</u>	24,480
$(\$1 \times 3) + \2	<u>\$5</u>	<u>250.00</u>	24,480
\$1 + \$2 (SPADE)	<u>\$5</u>	<u>250.00</u>	24,480
\$1 + \$4	<u>\$5</u>	<u>250.00</u>	24,480
<u>\$5</u>	<u>\$5</u>	<u>250.00</u>	24,480
$(\$1 \times 6) + (\$2 \times 2)$	<u>\$10</u>	<u>150.00</u>	40,800
$\frac{\text{(ACE)}}{\text{($2 \times 3)} + \$4}$	<u>\$10</u>	250.00	24,480
$\frac{(\psi_2 \times 5) + \psi_4}{\$2 \times 5}$	\$10	<u>250.00</u>	24,480
\$5 (SPADE)	\$10 \$10	150.00	40,800
\$10	\$10 \$10	187.50	32,640
$\frac{$10}{($2 \times 6) + ($4 \times 2)}$	<u>\$20</u>	750.00	8,160
$\frac{(32 \times 0) + (34 \times 2)}{(ACE)}$	<u>\$20</u>	<u>750.00</u>	8,100
\$5 x 4	<u>\$20</u>	<u>750.00</u>	8,160
$(\$5 \times 2) + \10	<u>\$20</u>	<u>750.00</u>	8,160
\$10 (SPADE)	<u>\$20</u>	<u>750.00</u>	8,160
<u>\$20</u>	<u>\$20</u>	750.00	8,160
$(\$2 \times 5) + (\$5 \times 2)$	<u>\$30</u>	3,000.00	2,040
+ \$10 (ACE) (\$2 x 5) + (\$5 x 2)	<u>\$30</u>	3,600.00	<u>1,700</u>
+ \$10 \$5 x 6	<u>\$30</u>	2 600 00	1.700
	\$30 \$30	3,600.00 3,600.00	1,700
\$10 x 3 \$10 + \$10		3,600.00 3,000.00	1,700 2,040
(SPADE)	\$30 \$20	3,000.00	2,040
\$30 \$5 - 8 (ACE)	\$30 \$40	<u>3,600.00</u>	1,700
\$5 x 8 (ACE)	\$40 \$40	5,000.00	1,224
\$5 x 8	\$40 \$40	6,000.00	1,020
\$10 x 4	\$40 \$40	<u>6,000.00</u>	1,020
\$20 (SPADE)	\$40 \$40	5,000.00	1,224
\$40	\$40 \$100	6,000.00	1,020
(\$10 x 6) + (\$20 x 2) (ACE)	<u>\$100</u>	3,600.00	<u>1,700</u>
$(\$10 \times 6) + (\$20 \times 2)$	<u>\$100</u>	<u>3,600.00</u>	<u>1,700</u>
\$20 x 5	<u>\$100</u>	3,600.00	1,700
\$20 (SPADE) +	<u>\$100</u>	3,600.00	1,700
\$30 (SPADE) \$100	<u>\$100</u>	3,600.00	1,700
$($20 \times 6) + ($40 \times 6)$	\$200	11,250.00	<u>544</u>
2) (ACE) (\$20 x 6) + (\$40 x	<u>\$200</u>	11,250.00	<u>544</u>
2) \$20 + (\$30 x 6)	\$200	11 250 00	544
	\$200 \$200	11,250.00	<u>544</u>
\$100 (SPADE)	\$200 \$200	11,250.00	<u>544</u>
\$200 (\$100 × 6)	\$200 \$1,000	11,250.00	<u>544</u>
(\$100 x 6) + (\$200 x 2) (ACE)	<u>\$1,000</u>	90,000.00	<u>68</u>
$\frac{(\$100 \times 2)(\text{RCL})}{(\$200 \times 2)}$	<u>\$1,000</u>	180,000.00	<u>34</u>
\$200 x 5	\$1,000	180,000.00	<u>34</u>
\$500 (SPADE)	\$1,000	180,000.00	<u>34</u>
<u>\$1,000</u>	\$1,000	180,000.00	<u>34</u>

<u>\$10,000</u>	\$10,000	1,020,000.00	<u>6</u>
\$25,000	\$25,000	1,020,000.00	<u>6</u>

- (10) The estimated overall odds of winning some prize in Instant Game Number 1096 are 1 in 4.33. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.
- (11) For reorders of Instant Game Number 1096, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.
- (12) Payment of prizes for SPADES lottery tickets shall be made in accordance with rule of the Florida Lottery governing payment of prizes.

A copy of the current rule can be obtained from the Florida Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

Rulemaking Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. <u>Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History-New</u> <u>2-4-11</u>.

THIS RULE TAKES EFFECT UPON BEING FILED WITH THE DEPARTMENT OF STATE UNLESS A LATER TIME AND DATE IS SPECIFIED IN THE RULE.

EFFECTIVE DATE: February 4, 2011

game.

DEPARTMENT OF THE LOTTERY

RULE NO.: RULE TITLE:

53ER11-11 Instant Game Number 1089, SUNNY **MONEY**

SUMMARY: This emergency rule describes Instant Game Number 1089, "SUNNY MONEY," for which the Department of the Lottery will start selling tickets on a date to be determined by the Secretary of the Department. The rule sets forth the specifics of the game; determination of prizewinners; estimated odds of winning, value and number of prizes in the

THE PERSON TO BE CONTACTED REGARDING THE EMERGENCY RULE IS: Faith L. Schneider, Legal Analyst, Department of the Lottery, 250 Marriott Drive, Tallahassee, Florida 32399-4011

THE FULL TEXT OF THE EMERGENCY RULE IS:

53ER11-11 Instant Game Number 1089, SUNNY MONEY.

- (1) Name of Game. Instant Game Number 1089, "SUNNY MONEY."
- (2) Price. SUNNY MONEY lottery tickets sell for \$1.00 per ticket.
- (3) SUNNY MONEY lottery tickets shall have a series of numbers in machine readable code (or bar code) on the back of the ticket, along with a validation number under the latex area

on the ticket. To be a valid winning SUNNY MONEY lottery ticket, the ticket must meet the applicable requirements of Rule 53ER10-1, F.A.C.

(4) The play symbols and play symbol captions are as follows:



(5) The prize symbols and prize symbol captions are as follows:



(6) Determination of Prizewinners.

- (a) A ticket having a " play symbol and corresponding play symbol caption in the play area shall entitle the claimant to the prize shown for that symbol.
- (b) The prizes are: \$1.00, \$2.00, \$4.00, \$5.00, \$10.00, \$20.00, \$30.00, \$40.00, \$50.00, \$100, \$200 and \$3.000.
- (7) The estimated odds of winning, value and number of prizes in Instant Game Number 1089 are as follows:

			NUMBER OF WINNERS IN
		ESTIMATED	50 POOLS OF
		ODDS OF	240,000 TICKETS
GAME PLAY	WIN	<u>1 IN</u>	PER POOL
<u>\$1</u>	<u>\$1</u>	<u>10.71</u>	1,120,000
<u>\$1 x 2</u>	<u>\$2</u>	<u>30.00</u>	<u>400,000</u>
<u>\$2</u>	<u>\$2</u>	<u>30.00</u>	400,000
<u>\$1 x 4</u>	<u>\$4</u>	<u>150.00</u>	80,000
$(\$1 \times 2) + \2	<u>\$4</u>	300.00	40,000
<u>\$2 x 2</u>	<u>\$4</u>	<u>150.00</u>	80,000
<u>\$4</u>	<u>\$4</u>	300.00	40,000
<u>\$1 x 5</u>	<u>\$5</u>	<u>500.00</u>	<u>24,000</u>
$(\$1 \times 3) + \2	<u>\$5</u>	500.00	24,000
$(\$2 \times 2) + \1	<u>\$5</u>	<u>500.00</u>	<u>24,000</u>
<u>\$1 + \$4</u>	<u>\$5</u>	<u>500.00</u>	<u>24,000</u>
<u>\$5</u>	<u>\$5</u>	500.00	<u>24,000</u>
<u>\$2 x 5</u>	<u>\$10</u>	500.00	<u>24,000</u>
$(\$2 \times 3) + \4	<u>\$10</u>	500.00	<u>24,000</u>
$\$1 + (\$2 \times 2) + \$5$	<u>\$10</u>	<u>500.00</u>	<u>24,000</u>
<u>\$5 x 2</u>	<u>\$10</u>	500.00	24,000
<u>\$10</u>	<u>\$10</u>	<u>500.00</u>	<u>24,000</u>
<u>\$4 x 5</u>	<u>\$20</u>	<u>1,500.00</u>	<u>8,000</u>
<u>\$5 x 4</u>	<u>\$20</u>	1,500.00	<u>8,000</u>
$(\$5 \times 2) + \10	<u>\$20</u>	1,500.00	8,000

\$10 x 2	<u>\$20</u>	1,500.00	8,000
<u>\$20</u>	<u>\$20</u>	<u>1,500.00</u>	8,000
$(\$5 \times 4) + \10	<u>\$30</u>	7,500.00	1,600
$(\$5 \times 2) + (\$10 \times 2)$	<u>\$30</u>	<u>7,500.00</u>	<u>1,600</u>
2) \$10 x 3	<u>\$30</u>	7,500.00	1,600
<u>\$10 + \$20</u>	<u>\$30</u>	<u>7,500.00</u>	1,600
<u>\$30</u>	<u>\$30</u>	<u>7,500.00</u>	1,600
$(\$5 \times 2) + (\$10 \times 2)$	<u>\$40</u>	8,000.00	<u>1,500</u>
3) \$10 x 4	<u>\$40</u>	9,600.00	1,250
$(\$10 \times 2) + \20	<u>\$40</u>	<u>9,600.00</u>	1,250
<u>\$10 + \$30</u>	<u>\$40</u>	9,600.00	1,250
<u>\$40</u>	<u>\$40</u>	<u>9,600.00</u>	1,250
<u>\$10 x 5</u>	<u>\$50</u>	15,000.00	<u>800</u>
$(\$10 \times 3) + \20	<u>\$50</u>	15,000.00	800
$(\$10 \times 2) + \30	<u>\$50</u>	<u>15,000.00</u>	<u>800</u>
<u>\$20 + \$30</u>	<u>\$50</u>	15,000.00	800
<u>\$50</u>	<u>\$50</u>	15,000.00	800
<u>\$20 x 5</u>	<u>\$100</u>	24,000.00	<u>500</u>
(\$10 x 2) + \$30 +	<u>\$100</u>	24,000.00	<u>500</u>
\$50 \$20 + (\$40 x 2)	<u>\$100</u>	24,000.00	<u>500</u>
<u>\$50 x 2</u>	<u>\$100</u>	24,000.00	<u>500</u>
<u>\$100</u>	<u>\$100</u>	24,000.00	<u>500</u>
<u>\$40 x 5</u>	\$200	60,000.00	<u>200</u>
\$50 x 4	<u>\$200</u>	120,000.00	100
$(\$50 \times 2) + \100	\$200	120,000.00	100
<u>\$100 x 2</u>	\$200	120,000.00	100
<u>\$200</u>	<u>\$200</u>	120,000.00	100
<u>\$3,000</u>	\$3,000	240,000.00	<u>50</u>

- (8) The estimated overall odds of winning some prize in Instant Game Number 1089 are 1 in 4.87. Prizes, including the top prizes, are subject to availability at the time of ticket purchase. Prizes may be unavailable due to prior sale or other causes occurring in the normal course of business including, but not limited to, ticket damage, defect, theft, or loss.
- (9) For reorders of Instant Game Number 1089, the estimated odds of winning, value, and number of prizes shall be proportionate to the number of tickets reordered.
- (10) Payment of prizes for SUNNY MONEY lottery tickets shall be made in accordance with the rule of the Florida Lottery governing payment of prizes.

A copy of the current rule can be obtained from the Florida Lottery, Office of the General Counsel, 250 Marriott Drive, Tallahassee, Florida 32399-4011.

Rulemaking Authority 24.105(9)(a), (b), (c), 24.109(1), 24.115(1) FS. Law Implemented 24.105(9)(a), (b), (c), 24.115(1) FS. History-New 2-4-11.

THIS RULE TAKES EFFECT UPON BEING FILED WITH THE DEPARTMENT OF STATE UNLESS A LATER TIME AND DATE IS SPECIFIED IN THE RULE.

EFFECTIVE DATE: February 4, 2011

DEPARTMENT OF ENVIRONMENTAL PROTECTION

Notices for the Department of Environmental Protection between December 28, 2001 and June 30, 2006, go to http://www.dep.state.fl.us/ under the link or button titled "Official Notices."

Section V Petitions and Dispositions Regarding Rule Variance or Waiver

DEPARTMENT OF COMMUNITY AFFAIRS

NOTICE IS HEREBY GIVEN that on January 31, 2011, the Department of Community Affairs, received a petition for waiver from Robert R. McDonald, Greenberg Traurig, on behalf of William Scotsman, Inc. It has been assigned the number DCA11-WAI-029.

RULE NUMBER: 9B-1.030, Fla. Admin. Code

NATURE OF RULE: Provision of Rule 9B-1, F.A.C., requiring an insignia designating compliance with applicable standards and rules be affixed to a factory built school building prior to its leaving the factory.

A copy of the Petition for Variance or Waiver may be obtained by contacting: Paula P. Ford, Agency Clerk, Department of Community Affairs, 2555 Shumard Oak Boulevard, Tallahassee, Florida 32399-2100.

The Department of Community Affairs hereby gives notice that a Final Order Denying a Petition for Variance was issued on February 2, 2011.

NAME OF PETITIONER: Kissimmee Bay Country Club. DATE PETITION WAS RECEIVED: November 8, 2010.

RULE NUMBER AND NATURE OF RULE FROM WHICH WAIVER OR VARIANCE WAS SOUGHT: Rule 9G-14.003, Fla. Admin. Code, relating to annual registration fees for hazardous chemicals. This waiver was requested pursuant to the provisions of Section 120.542, Fla. Stat., and Rule 28-104.002, Fla. Admin. Code. It was assigned the number DCA10-WAI-229.

GENERAL BASIS FOR THE AGENCY DECISION: The Department determined that the petition did not meet the criteria for granting a variance or waiver to a rule under Section 120.542, F.S. and Chapter 28-104, F.A.C., in that it did not specify how a variance would serve the purposes of the underlying statute and did not explain how the rule affected the Petitioner in a manner significantly different from the way it affects other similarly situated facilities that are subject to the

A copy of the Order or additional information may be obtained by contacting: Paula P. Ford, Agency Clerk, Department of Community Affairs, 2555 Shumard Oak Boulevard, Tallahassee, Florida 32399-2100.

DEPARTMENT OF LAW ENFORCEMENT

The Criminal Justice Standards and Training Commission hereby gives notice that on February 3, 2011, the Criminal Justice Standards and Training Commission has issued an

On December 2, 2010, the Criminal Justice Standards and Training Commission, received a petition for a waiver of paragraph 11B-27.013(8)(b), F.A.C., by Robert J. Dudley. The rule requires canine team instructors who wish to become canine team evaluators to successfully train twelve patrol canine teams to FDLE standards and document the training by using form CJSTC-70. The Petitioner has successfully trained 29 patrol canine teams, but only seven of them have achieved certification through FDLE. Many teams trained by Petitioner were certified through the United States Police Canine Association, which is an accepted certification standard in Florida. The Petitioner requested that the canine teams that he trained to certification through the United States Police Canine Association be recognized as the equivalent of FDLE canine team certification in fulfillment of the rule, or, in the alternative, that the seven teams that he trained to FDLE canine team certification would suffice to fulfill the rule requirement of training twelve FDLE certified canine teams for the purposes of obtaining his Canine Team Evaluator status.

Notice of receipt of the petition was published in the Florida Administrative Weekly Vol. 36, No. 50 on December 17, 2010. On February 3, 2011, at its regularly scheduled business agenda meeting held in Lake Mary, Florida, the Commission found that the Petitioner's situation is unique. The Petitioner demonstrated that the strict application of the Commission's rules in this case would violate the principles of fairness because of the low turn-over and small size of the Petitioner's constituent agencies, which gave him little chance to train the requisite number of teams to achieve FDLE certification. The Commission found that the purposes of the underlying statute, which is to ensure that canine team instructors have sufficient experience in training canine teams prior to becoming canine team evaluators, will be met by granting this waiver request. The Commission granted the Petitioner's waiver.

A copy of the Order or additional information may be obtained by contacting: Grace A. Jaye, Assistant General Counsel, Florida Department of Law Enforcement, P. O. Box 1489, Tallahassee, FL 32327, or by telephoning (850)410-7676.